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QUESTION 1

Given the following:

ProcessTestObject pid = startApp("ClassicsJavaA");

What are two valid methods one can call with a ProcessTestObject? (Choose two.)
A. pid.duplicate()

B. pid.kill()

C. OK(pid).click()

D. pid.find(atDescendant("value", "OK"))

E. pid.getObjects();

Correct Answer: AD

QUESTION 2
Given the following code snippet:
OK().waitForExistence();

Assuming that no changes have been made to the Functional Tester default playback settings, which two statements
will cause Functional Tester to wait for 60 seconds for the OK button to appear? (Choose two.)

A. setOption(IOptionName.MAXIMUM_FIND_OBJECT_TIME, 60.0)

B. setOption(IOptionName.MAXIMUM_WAIT_FOR_EXISTENCE, 60.0)
C. setOption(IOptionName.TIME_MULTIPLIER, .5)

D. setOption(IOptionName.TIME_MULTIPLIER, 2.0)

Correct Answer: BC

QUESTION 3

If a test fails because the tester has updated the test data, what should the tester do to prevent continued failures?
A. re-record the test

B. use the comparator and update the baseline data

C. nothing, because the test is supposed to fail
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D. change the test data

Correct Answer: B

QUESTION 4

What can you use to select an object as a verification point?

A. the object finder, the object picker, or the object browser

B. the main object browser, the test object browser, or the extra object browser
C. the object finder, the test object browser, or the delay method

D. the delay method, the scripting method, or the pointer method

Correct Answer: C

QUESTION 5

Which three statements are true about HelperSuper classes? (Choose three.)
A. Scripts can share Helper Superclasses.

B. Scripts cannot share Helper Superclasses.

C. Scripts can inherit from multiple Helper Superclasses.

D. Scripts can inherit from a Helper Superclass that resides in a .jar file.

Correct Answer: ACD
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